CS8-006 0D0000es00000000(0022090)
OO0 wavelet DO OOOO0OOO0OODOOOOO 200
ooooobuogoooon
00000000000000 000 0000
00000000000000 000 0000
00000000000 000 0000
1. 0DOoOo

0000000000000 00ooooooooooon
wavelet V00O OOO0O000 000000000000
000000 waveletDODOO0OO0OO0OO0OO0OOOOOOOO
0000000000000 0ooOoooooooooon
0000000000000 0oUoUUUoUoooooo
0000000000000 0o00ooooooooog
0000000000000 DDDOO0ODDODDDOODOOD

O000OOwaveletOO0OO0O0OO0OO0O0O0ODOO0OO0OOOO
000 Laplace 00O OO0OO0OO0O0OOOOOOOOOOO
0000000000000 DODDOO0DDODODDODODODOO
000020000000000000000000000
O Haarwavelet 000000000000 0OOOOOOO
0000000000000 DDOO0DODDOODDDOODODOO
ooo

O000000OO0Owavelet 0O OOO0OO0OO0O0OOOOOO
000000000000000000 wavelet?) 0000
00000oo0oooo0oooooooooong wavelet O
Jod00d0000o0o0oooooooooo

2. 0000OO0OUOO0OO0DODOO wavdetOO OO
ooooooog2000o0oooboboo0ooooooo

Au(x,t) — C%U(:c,t) =0, (inQ)

u=1a, (onT,) p u _ g, (onT,) D

U(iL‘, 0) = Uo(il?), ’ll(iL', 0) = ’1)0(1'), (In Q)

0000wO0000000000.0000000000
O0AD Laplacian 00 00000QO0OO0O00OOTO
oooooorooooor,,r, 000000, ul, =70
r,Nr,=0000000000

0 (1)0000000000000000C0Brebbia O
Mansur 0 0 00200000u, =0,00=0000000
0000000000

1 T
—u(y,T) —/ /U*(watoaT)q(w,t)szdt
0 T
'—/ /QH%tyﬂ%A%ﬂdndt
OT I
_/ /q;(w;t§y,7')ﬂ($,t)d]_—‘$dt:0
0 I

)

O000«*00 (1)000000000000¢; 000
goooo

= r_or H(c(r—t)—7)
Y2 On (7 — A/ (r — )2 — (r/c)?’

®3)

O0O0OH()O Heaviside D0 0r=|y—z|Un0000O
O000000000000¢ =(r—t)¢ 00000

0@U0000000000000000000000 u
000000¢0000000000004«0000000
00000000000000000000000000
0000000000000 wavelet 0000000000
00000000 Galerkin 000000000 ¢, =pAtD
00000000 u®(x),q® (z) 0 wavelet OO0 OO0
oooooo

N
P (z) ~ Zﬁo,j%,]
=1
N
P(a)~ Y dojdo(x
i=1

0000¢o,;(x) 0 scaling O O Oy, (x) O wavelet 0000
O0D000 Haarwavelet 000 300000000000
000000ood wavelet VOOO0000 00000
0000000¢,; 000000000000000000
oo0o0oooooooooooooooooo(@on
00000 (4)00 (D00000000000oooon
000000000000000 GalerkinOOOOOOOO
Ub0¢t=¢t,00000000000000O000000

m "w(k

+Zzukﬂ/’kl

k=0 [=1

m nw (k)

)Y D drathrn(x)

k=0 (=1

4)

Hiul®) — G
& H® (L) ©)
E:{ D ?) Itpu@*”+G$M@@
p=1

DoooGy, HY HY ooooooooooooo

00000000000
0000000000000000000000000

00000000000000002000000000

gboooooooooooboobooobooboooon

KeyWords: 20 000000000000 0000000000 waveletD OOOO
0000950-218100000000000 8050000 TEL 025 (262) 7274 FAX 025 (262) 7274

- 11 -



CsS8-006

X2
1 q=0
= —
L A(2,25/48) = ?
T | b= =
Ny [
q=0 2 X1
a=2
0100000
R 10°]

107 — x=l0x 107
— x=1.0x 10°
— k=10x 107

— x=L0x 10°
— x=L0x 107
— k=1.0x 10° _
— x=10x 107 10

0 4 8 12 16 0 4 8 12 16
Time Time

@n=1. (b) n = 3.
02000000 w000 e) 0000 (VN =288, 8 =1,
fref=1/48)|:|

~(L,
L,
gz(j ?)

< K- grey, (a priori)

(6)

< K- gref, (posteriori)

D0D0O0x000000000g,” 0000000000
D00 Gy 000 ¢”0000000g,.0 g O
0oooooo

3 dooooooooond
doo0odooooooobooooooooooooog-1
0o0ooobbboobooboooooooobobooon
000000 ¢=10000000000 wavelet O wavelet
0000oooooooooooooodn=1,n=3020
000000000000 18000000 scalingO 00O
O00000OOwaveletDOOOOOO0OO m, =3(N =18-
2m-tl = 288) 00000000 O00At = Blrep/c(lrey =
1/48)0 0000000000000 00O0O0O0ODOO0
000000000000 GalerkkinODOOOOOOOOO
goooooooboooboboooobooobooooo
gooodoobobbboooooooooooooog
00 GMRESOOOOOO
0o0oooooooooooo-200000000000
gooooooobobobbooooooooobooboood
gdodoooobbobbboooouooouoooobooboog
godooooobobbbbdooooooobbobbood
0do0ooooOooboobOooboo-sgooooooo
O0d00On=1,n=300000000000000O000OO
godooooobobbboooboooooooooog

OO000O0esO0O0D0OD0OO@DbO22090)

=

o

S
T

100[

—— Galerkin

—— Galerkin |
—— Collocation

—— Collocation
Wavelet BEM

— k=0

— k=1.0x 10°°

— k=10x 107

— k=10x 107

— k=1.0x 107

Wavelet BEM
— x=0
—— x=1.0x 10°°
— x=l0x 107
— x=1.0x 10"
— x=10x 107

Compression rate (%)
ol
o
Compression rate (%)
(]
o

Time

@n=1. (b)n = 3.
03000000000 000oooooooooooopoooo
0000 (N=288,8=1, {5 =1/48)0

©

CPU time at each time step (sec)
- D

CPU time at each time step (sec)
=

©

T

—— Galerkin Wavelet BEM

—— Collocation —— ¥=0 &
—— x=1.0x 10
— x=10x 107
— =10x 107
— k=1.0x 107

Wavelet BEM
— k=0

— k=1.0x 10°
— k=1.0x 107
— x=10x 107
— k=1.0x 107

—— Galerkin
—— Collocation

Time

Time

@n=1. (b)n = 3.
gooooobobobobooboooboooooo

T
Wavelet BEM

— x=0

20—

Wavelet BEM
— =0 — =10x 107
—— k=10 10° — x=1.0x 107
— x=10x 107

I
[

- —— Galerkin

! e g—
—— Collocation oF

0o 4 8 12 16 0 4 8 12 16
Time Time

@mn=1. (b)n = 3.
050000000000000000 GMRESOOOODDOO

=
a1
o

-
o
=)

—— x=1.0x 10°°
— x=10x 107
—— Galerkin —— x=1.0x 10"
—— Collocation —— x=1.0x 10~

3]
o

Number of iterations
Number of iterations

000o0oo0ooooooDoooooDoooooooon
wavelet 00 0000000000000 0O0OO0O0O0O0O0O
ooooooooooooooooooooooooo-4
00ooo0oooooooooooooooooooooon
go0oooooooooo0ooooooooooooogo
wavelet D0 0000000000000 OOOOOOOO
0000000O0OGMRESOOODOOOOODOOOOOOD
000000000000000000000 waveletO
gdoooooooooooooOoooooooooood
O0O0n=300000000Haarwavelet(n=1)000
gdooooogdoioopoooooooooogooooo
go0oooooopo0oUoooogooogooooogooo
000000 Lwoooooooooooooooooon
go0oooooooooooooooo

oooo

1) Koro, K., Abe, K.: Non-orthogonal spline wavelets for boundary

element analysis. Engrg. Anal. Bound. Elems., Vol.25, pp.149-164,
2001.

2) 000000000000 0O000o0oOooooOoooooon
O00000000000000 waveletD0OOOOOO 580
000000000000 0pp.117-118, 2009.

- 12 -



